e euTn& &6l

:101-200

UGS -9 (Qung odley)
Part-B (General Studies) -

QuestiOﬂS :101-200 Total Marks

OQwrss UG UG : 150

« 150

101. Cancer of the epithelial cells is called

102.

(A) Leukemia
(C) Carcinoma

(B) Sarcoma
(D) Lepoma

(E) Answer not known

crigellwad Cedeler LHMCHML 2 (Heureush s

A) arsCambluwm

(B) snmisCGamom

ererm Gluwir.

sniélCarmwor (D) SuGumwomr
(E) o&er Qsfwelévenen
Match the following :

National Parks States
(a) Gir National Park 1. Rajasthan
(b) Corbet National Park 2. Jharkhand
(c) Rajkir National Park . 3. Gujarat
(d) Ranthambore National Park 4. Uttarakhand

@& ® @©© @ . ~
(A) 3 4 i | 2" : ('Jl\n“: C\’\
B4 3 2 1 Telogron e toaiki
©3 4 2 1 T | Topse - e =
D) 3 2 1. 4 il
(E) Answer not known - '.
Qur(ms8.8. .

CoAwLs LmisT wmpled
(2) A CaAlun s L. g
(b) srrQur Cadlwl LmisT | 2. &””35“_’"1—
(©) @rridi CeAlul s 3. &gs

4. o ggramer

(d) @rpsoyr Cedlui yhsn
@ @® @© @
4 1 2

4) 3

(B) 4 3 2 1
3 4 2 1

D) 3 2 1 4

E) doL Qsfusioma
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103. Arrange the following events in the Chronological ordex
1. Death of Pulithevar
2. Death of Kuyili
3. Death of Kattabomman
4. Death of Maruthu Brothers
(A) 2,8 14 B 1,2,3,4
(C) 1,8 2°4 M) 3,1,4,2
(E) Answer not known
EC Qar@ssriur erer Blapeysaner sreeflens LB 556
1. yalsGseuiar @muiy
2. @der @i
3.  slLuGumbibaier @puiy
4

. wogECarsrisefar @miiy
A) 2,3,1,4 | %2,3,4

€ 1,824 D) 3,1,4,2
(E) ol Qsflueddrena

104. Who was the First Women Doctor in Tamilnadu?
(A) Moovalur Ramamirdham (B) Muthulakshmi Reddy
(C) Dharmambal (D) Pandithar R -
(E) Answer not known

sBIpBI g6 (s Cuer msg e UJW;’///
(A)  apeugnit pmomflisid WG g8 Gl i

(C) simbumer (D) ufcﬁ'zrrtnrgr'r T MLy

(E) e&flen Gsflweidena

CCS4T/2022 28



105. Match the following:

(a) First Five Year Plan 1. Economic stability

(b) Second Five Year Plan 2. Growth with stability

(c) Third Five Year Plan 3. Problems of refugees, food shortage

and inflation

(d) Fourth Five Year Plan 4. Self-generating economy

@ ® (© @

Aa 1 2 3 4
@ 4 1 2 3
© 3 1 2 4
M 1 8 4 D

(E) Answer not known

Yemeu(meuareupenmi QUIT(HESS.

@) wso gsrar® S L. Qurgemgmy Hlowsseremio

(b) Qe meug) gisran® HLb 2. HawssaTmnLL e salgll euariEs)

(c) eperpreus mpstaT® S Lib 3. SsdlseT, 2 ey UDDTEG®D LWHHID
' uemei&s Sésween

(d) premsreug gphsnar® Hlb 4. &W e (Beurssy QuTeTTETID
(@ b (© (@

a1 2 3 4
B) 4 1 2 3
@% B _B 4%
@ 1 3° 4 2
(E) eflerr Qsfueidrema
B % CCS4T/2022
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106. If H.C.F. of p and q is x and q = xy, find the L.C.M of p and ¢ from the |

following

(A)
(B)
©)

D)
(E)

pPq
qy
xy
pY
Answer not known

P womibd g-ar BuQum Qurg uEss x wHmd ¢ = Xy aafle), p wHDID g-6r &8y |
Qurgl wLkins SCpueTeTeunMed(HHE Srears.

(A)
(B)
©)

pq
qy
xy

&7 py_

- (B)

aflerL Gsflwalicvera

107. The length of a rectangle is (3x + 2) units and its breadth is
(3x — 2) units. Find its area. (x = 20 units)

(A)
(B)
©
D)
(E)

3596 sq. units
3956 sq. units
4256 sq. units
5356 sq. units
Answer not known

@ Qedueussilan fard (3x + 2) si@sdr LOHNIDL igen Sisob (31 — 2) S| GEHT
afl sigen upliueatenaud srens. (x = 20 9w @edr)

eT
ﬂ% & D@se |

(B)
(©)
(D)
(E)

3956 .26V (& &6
4256 5. @se
5356 &.@ @6
ellenL Glaflweilcenc
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108. If 18, a, b, -3 are in Arithmetic progress, then what is the value of

109.

(a+b)?
@) 7 (B) 11
(C) 15 D) 21

(E) Answer not known

18, @, b, -3 Qe sl HsQsTLir auflanswiies 2 ererg arafled (@ +b)-ulen LS

SIS,

A 7 | B) 11

& 15 ) 21

(E) eflen Qsfwedcranan

A person saved money every year, half as much as he could in the

previous year. If he had saved totally 27,875 in 6 years then how much
did he save in the first year?

(A) % 3,000 (B) 74,000

(C) 74,500 (D) 25,000

(E) Answer not known

@M puUil @aQaurm Par@b ABHG Yhosw Rarh GCellss Csrasudeon
urdeow Gelsdpri. 6 yam@aeie et ¥ 7,875-g& Caflsprt eafld s

et Cadliy //,
(A) 23,000 B 7 4.000
(C) 74,500 (D) 2 5,000

(E) efenL Qgfweildeane

ol CCS4T/2022
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110. Under the duties of the father; what 18 the duty of the father t, hi

son — as found in the Kural.

“Thanthai magarkaatrum nandri” —?

(A) Avaiyil Munthi irukka Seyal

(B) Selvathil Munthirukka Seyal

(C) Kudiperumaiyil Munthiyirukka Seyal

(D) Nermaiyil Munthi irukka Seyal

(E) Answer not known

“‘GHeNg W&HSTHMILD EGETI,[IS]”

aengb HnsEpafan Ly spos Le@IGEGE Qeyd el aF)?

(A) wauleo wipdmsss Qeugen

(B) Qedveusda wpiduldmsss Qg
@/@unu@mmuﬂm WEHW(REHE Caiige
(D) Cﬁppf:;mmuﬂd)’ @5@9@&;&# Qawiged

(E) &flenr QsfMweierene

111. The first surveyor of the Archaeological Survey of India (ASI) was

(A) Charles Mason (B) Alexander Burnes
(C) Alexander Cunningham (D) Sir John Marshal | |
(E) Answer not known

Grgws Asradlud yuies gmpuder (PHD B LIeUTeT(T
(A) gieev Gloger (B) <iQessram i uieren

&@wéans&m_ii‘fﬂ@_ﬂﬂm@ (D) & gymeir LDITT Qg6
== )
(E) clemi_ QQI‘?‘U.JG]S]GDGE}GU

CCS4TI2022 32 p



s | 112. Match the awards with recognition -

J Award Recognition

(a) Perumthalaivar 1. Increase enrolment in school
Kamarajar award

f (b) Puthumai Palli Award 2. Award for top performers

| () Kanavu Asiriyar Award 3, Improve socio economically
l marginalised student

(d) Radhakrishnan Award 4. Service of the best teacher

@ ® (@ @

A 4 3 1 2
B) 2 3 1 4
| ©) 1 2 4 3
D) 3 4 2 1

(E) Answer not known

eSl(mgIseT WHMD HRESTTEmS QUIHESS :

NIGEAE SEIESTTLD

uetené Garsansamw 2afgsh
Smig GEwduriyparear ell(mg)

—

(a) Qumbsmeei smorrai ofl(ms

(b) ygewrs ueref (g 2
3. &ws, Qunmpertsry fHwrs Gesmdw

remreursamer GuibL(Hssiso

4. ffwl uaflle dAppg eflarhiEsd

(¢) sarey YAAwT elma

(d) Urr;e_r,rr &(meipanren afl(mg)

@ () (o) (d)
(&) 4 3 1 '

2
@2 3 1 4

3

1

(C) 1 2 4
(D) 3 4 2
(E) &9eni GlgMwelldene

B 33 CCS4T/2022
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113. Choose the correct Pairs :
Maruthu Brothers

1. Ondiveeran

Gopala Nayakar Dindigul League

9

e

Pulithevar

Kuyili
Kalaiyaarkovil Battle

3.
4. Muthu Vaduga Nathar
(B) 1 and 2 are correct

(A) 1 and 3 are correct
(D) 2 and 4 are correct

(C) 2 and 3 are correct
(E) Answer not known

sflwrer Qeneanraeaers Csia) Clauis.
wmg sCHTHITEHET

1. ea&mgeiyer —
2. Csmure prwssi —  Slam(hése gl Levwliy
3.  @wel - yeilsCseur

4. wssubHSHTST —  sreverwmrt Garafled Guim

A) 1 wipmb 3 &M (B) 1 wpmib 2 &

(C) 2 wimwp 3 & m womib 4 g
e ——

(E) el Qsfweferene

How does Valluvar compare the wealth of a wise man?

114.
(A) Tank brimming with water (B) Ocean
(C) River (D) Lake
(E) Answer not known
guregoLy  Csdaub  supsmusHbEl Lu6TLRoms aueT@paut  ergCant(
QU Smm 2 ) | :
@//%g_r arf] (B) sLé
©) = (D) el
(E) &flen Glsflweldene
34
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115. Three rivers in Peninsular India that runs from east to west are
(A) Mahanadi, Godavari and Krishna
(B) Krishna, Narmada and Taptj
(C) Narmada, Tapti and Mahj
(D) Mahi, Mahanadi and Godavar;
(E) Answer not known
Suspu Qs smisaie Hpsda Bmhs Cuh@ Crsdl LTy APETH <bMISET
(A) wsarpd, Cangreul wHmbd & meayerr
(B) dmeyemn, piwvas wpmid sUs
@Qpr’rm@g,_ggg WHmID Wwreh E—

D) wrad, warHsl wHnn Camgreud] o
' ~ T N s Lo Aty
(E) e Qsfwedene (D\IM 5 o
£
(\\:

116." Identify the correct pairing.
'(A) Nucleoside — Nitrogen base + phosphate
(B) Pyrimidines — Cytosine and sugar
(C) Purines — Adenine and Guanine
(D) Nucleotide — Nucleoside + sugar
(E) Answer not known
sflwuner Generenws semB)i9g.
(A) AyselCurms® — eBLTRE STID + LG
(B) ANfgenser — amer GLrélar LHDID srés@IT
(C) Gy Meraer — <3iiqenaerm LHHILD (&6 TGO GOt

Mg&;aﬂ@unm;@ - Lﬂgé;aﬂ@u_mm&@ + sibsay e
(E) eder QsAwelcrene

9 CCS4T/2022
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117. Match the following:
(a)
(b)
()
(d)

Sivasubramanianar
Kattabomman

Marudhu Brothers

Dheeran Chinnamalai

@ b (o)
(A) 3 1 4

2
(B) 3 4 1 2
4
2

(d)

(C) 3 1 2
M 4 1 3
(E)

Answer not known

QuIBEES :
(a)
(b)
(c)
(d)

@ b (o (@
. 3 1 4 2
: L3 <

(B) 3 4 1 2
(C) 3 1 2 4
D) 4 1 3 9
(E) eflen Ggilwellcency

Aeuslirwenilwenmi .
s GQumibwer 2,
w(hg sCansyisen 3.
4,

S fleneneane

CCS4T/2022

1. Kayathar Fort

N

Sangagiri Fort

Nagalapuram

Ll

Thirupathur Fort

swssTm CHmlen
srisdlfl CamlenL
[BT&GOTL LD

Smuusgnt CamenL

36
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118. Match the correct classification of 1and during the Gupta period.

(a) Kshetra 1. Waste land

(b) Khﬂa 2. Cultivable land

(c) Aprakata 3.  Habitable land

(d) Vasti 4. Jungle land
@ G .(© @

(A) 1 2 3 4

®4 2 1 3

©2 1 4 3

(D) 3 4 1 2

(E) Answer not known

GUsT sresder Hlomsmer SpssarcupmiLer sflwrs QummsS Hs.

(a) Gsaym 1. sfle flew
(b) der 2. Geaemmamewss 2 6bhs Heb
© @wugssn . 3. EWWBUUEHS 2555 Hlab
(d) euevd 4 e;aJsoT Hleow

@ ® @© @
A) 1 2 3 4
(B) 4 2 1 3
M 1 4 3
D) 3 4 1 2
(E) e Qsfucddme

81 CCS4T/20
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. ure
119. How many triangles are there in the following fig

=X

A) 12 (B) 13
© 14 D) 15

(E) Answer not known |
SPps@TL cuaguL sHd erssman (WECETEISET 2 GTETRT?

A) 12 (B) 13
(C) 14 -L?-—-*

(E) ofleni Qs Mweldrene
120. Which number is in opposite plane of 3?

W

@ 1 A
©) 6 D%

(E) Answer not known
3-6& erélrme Sa54l6d o 6rer erenr 6T ?

Sl

@A) 1 (B) 4
(C) 6 D) 5
(E) oav Gsflwefcrenay

CCS4T/2022 38
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121. How many times can you subtract 10 from 1007

122.

@ 1 % (B) 100
(C) 10 D) 9
(E) Answer not known

A 1 (B) 100

&0 D) 9

(E) o&Nev Gsflweldeme

th
Mukesh can do = of an work in one day. In how many days can he

complete the same work?

@ 2 days | @/Z% days

——

' 1
(©) -’-1l days (D) 5= days
4 : 2
(E) Answer not known

WCseiy @ Hrafled % uGs Geumeaanws Q&g (g)tq.uurrfr aafld aszmar prlsefld

SiaCaumaaw (ppewwns Celg (pgUUmT?

1
@) 2% prisar - ® 3 presa
(©) - (D) 5"1-,r_r>rr|'_aaeir
: 2.5’”— ‘ 2 |

(E) a9eni Gg,rﬂmo‘j]ebemm

39 CCS4T/2022
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123. Match the following:

(a)
(b)
(c)
(d)

(A)
(B)
(©)
(D)
(E)

EDEERTLMEUSET (1PanDLTSL] Clumm&s)s.

(a)
(b)
(©)
(d)

The Consumer Protection Act

The Legal Metrology Act

The Essential Commodities Act

The prevention of Black

Marketing Act

@ ® © @

4 3 2 1
1 2 3 4
3 4 1 2
4 1 3 2

Answer not known

m&rGeunt UTESTUILE FLL b
FLL Sjeraflwed &0 LLb
SisSwreudlwts QUL sar e Lib

SETETE FHNFLL[HSSISH SO

FLLD

@0 © @

(B)
(€)
(D)
(E)

CCS4T/2022

4 3 2 L7
1 2 3 4
3 4 1 2
4 1 3 2
e GaMwalcreney
40
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1955
2009
1986

1980
1955
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124. Which city 1s known as “Electronic Capital of India”?

125.

(A) Hyderabad (B) Bengaluru

(C) Chennai . D) Delhi
(E) Answer not known ) Delkd

@ndwrelen ‘Weneilwie SPVBSTD’ eremy) SDPEFIUED BSTD GTHI?
(&) @avsyruns @ ooy

(C) GQgerenan (D) T
(E) el QsNweldanay '

Correctly match the component and its use in a circuit :

Component Use of the component
(a) Galvanometer 1. Used to fix the magnitude of the current
through a circuit
(b) Voltmeter 2. Used to measure current
(c) Ammeter 3. Used to measure potential difference
(d) Resistor 4. Used to detect the current and its directions

@ ® © @
4 4 3 2

B) 2 3 - 1
C) 4 2 3
D) 2 3 4

(E) Answer not known
e Wenspdlaierer WBlamannsaer e Lwemum (i er sflwns Qummsss.

=

B 6inam ) Wlerandlem Liwerm( )
(a) smoeuGarm BLLT 1. deaapPéd uryd BeaGarmicgher  araney
Hiramub Geww vwearuB &g
(b) Geumévrr_ BrLir 2. WeGanml L geng emell
() ewBrur 3. L&Gﬁrfﬁ@ﬁﬁemyunl'_ml_&msﬁk_
(d) Verger_wrsd 4., HenGermL b wHHID iFen Havsanwd e Hu
® @ @
4 8 2 -l
(B) 2 3 1 4
©) 4 2 g 1
(D) 2 3 4 1

(E) &Qeni QgMweilcrened

41 CCS4T/2022
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126. What are the ornaments of a nation according to the sequence of
Valluvar?

(1) Wealth
(2) Joy

(3) Defence
(4) Health

(5) Yield

A) @, 1), ), @), B
B) @), 2), (3), (4), (5)
© @, ®),6), 2,1
D) @), @), 3), (5), (2)
(E) Answer not known
Bl H@ eflsmanmareupen aidmeseu e euflosuie sis)emarmi
(1) Qséeud

(2) @eru

(3) auw

(4) Qenfludemenio

(5) efenaray

@A) @), Q), 6), (@), )
B) (1), @), (3), (@), ©5)
(4), (3), (5), @), (1)

D) (1), (@), @), 6), )
(E) eflen QsMweicrena

CCS4T/2022 42
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127. Choose the right match :

1

(A)
(B)
(©)
D)
(E)

Taxes levied and collected by
but Assigned to the state

union

Duties levied by the union but collected
and Appropriated by the state

Tax levied and collected by the union

but which may be distributed between
union territory and states

1 only

2 and 3 only
1 and 2 only
1 and 3 only

Answer not known

sflwrer @Qevareows Casibs®H :

I

(A)
(B)

wsHW sipeTed NHsslul (), uEOEsLULD

LIHOEISEHEE REISEHE Falgll QUETRISET

- Art 269

—  Art 268

— Art 267

- agrsg 269

waHu sirerd HssUULE, Lame wrbleo s — agrss 268

U@GILUg wHmib Lweru(hiSSeugl

iAW Siyered 698ss0ULE, EGSESIULE

wrflekser wHmD whLelwen AGgemsEanss,
udlipseféadaniy s cuflae

1 bl B

2 wHmib 3 wLHID

@/llm@@mzhg_r___@g__.__

D) 1 wpmw 3 w @b

(E)

aleni Qg,(ﬂu_leﬁlsbww

43
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128. Find the odd one out.
(A) Illamchetchenni (B) Kochchenganan
(C) Perum Cheral Irumporai (D) Perunarkill
(E) Answer not known

QumBHSTSMSE asdsr@tﬁhq_.

(A) QargrGsQserafl (B) CGaréQeniisemrme
W@J@@@&U@ @@L‘D_G_lurrmm (D) Quspdleref
(E) é—sm_ggrﬂu_laﬂ@m:—

129. Which of the following statements are true about the post sangam age?

(i) Pathinen keel kanakku texts, include eighteen texts which mostly
deal with ethics and morel codes.

(i) The most important of these Thirukkural and Naladiyar.

(1) Silappathikaram and Manimekalai are the two texts deals with
Cultural and Religious history. -

(A) () only True (B) (ii) only True

(C) @), 1) only True . (D) (@), (111) only True
(E) Answer not known

Spsar cursSwiiselle ks wmedw a;rrevgﬁs‘m sflwrer enm Tl

(D) vHOer @ prosemer 2 drer s UHCaTETEDESEmTEE gneua;en QumumgDd
Ré&s Apflppepsmerts UHH snmdns.

(11) - seupmier HmEGDEHD, B LIM®HLD @g,e&rmmmrrmgn@lb.
(1) Aeovudsmrepn,  walGosmaub ugTur®  wHmb  sLwsms LD

sami&eTmaen.
A) () v & B) (i) wr b el
W, @) ocn el D) (), (iii) we o &

(E) oo Qsfueidame

CCS4T/2022 44 B

18




130. Arrange the following Newspaper's and Journals of Thanthai Periyar U

131.

chronological order.

1. Paguththarivu
9. Viduthalai
3. Kudiarasu

4. Puratchi
@A) 4,2,3,1 (B) 3,4, 1,2
C) 3,2,4,1 D) 2,3, 1,4

(E) Answer not known
Spssamcupmiet  spes  Quilurfler  Qewdssre i DE@ETULD
s (PenpUuly auflensliu@isss. e slppprasmayd. G50 H

L. u@dsiey

2. &lpsame

3.  G4Wwrs

4. yri& '

(A 4,281 @% 9
(Cy 8,2,4.1 M) 2,3, 1, 4

(E) e QsNwaloene

Assertion (A) : The Indian heritage advocates hospitality, charity,
friendship, love, respect for parents and elders and

tolerance. :
Reason (R) : All these help the people to live in unity.
(A) Both (A) and (R) are true (R) is the correct explanation of (A)
(B) Both (A) and (R) are true (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false |
(D) (A) is false but (R) is true
(E) Answer not known
gahm : @g,@u urgbuflub  ereTug) aﬁ!@ﬁcg‘gam_bucb. s, BLL, ey,
QupHGregyb wHpb Guilueismanyd wWHSsD wHML FEUUS
seennam el nISSIISTSLD.
sryend :  Gupaadw LaLseT CaDNIMOSEEET DHE DESET @HMIELOW|LET UL

2 56 &l eme.
M@@m sryaapw &, STIEID SMmppsatar sfutear elarssn ="
(B) sapmid sryapd &, STyawd s dODIGSETaT gflwrer eflerésd e
(C) gamm &, smyenrd S0
D) simy seum, smred &l
(E) efeni QzsAweildeame

s CCS4T/2022
[Turn over

19



132. The birth rate is estimated in terms of
(i) Number of births per one hundred population in a given year

(ii) Number of births per one lakh population in a given year

(iii) Number of births per one thousand population in ten years

(iv) Number of births per one thousand population in a given year

(A) (1) only (B) (i1) only

(C) (1) only (D) (iv) only

(E) Answer not known

Qoo flsb @ser <iguumLudd UL LB E DS

Q) e GHUACL @Tgd G LEs Agrasuld DAppseuirsaier erameailsms

() gn EHUEOLL Emgd @ GoLs ESET Qsrensuider Gppseuisefian |
GT BT et SEN S : ;

(iii) uss sl WuAgD w6 Agmasulld Gppgeuisaiien crementsms

(1v) g GG L Syamge b waser Asraasull -@D$§@ﬁ5ﬂﬂ6h canaflsams |

(A) () wEw | (B) (11) v @
(C) (1) w @ (1v) wr@u

(E) oo Qsflweficraney

133. If the difference between C.I. and S.I. on some principal at 15% p.a. for

Ws ¥ 1,134. Then the principal 1s
‘ < 16,000 (B) z 15,000

(C) % 14,000 (D) % 20,000
(E) Answer not known

15% <ar® atgdd 3 aPswées SOLsED i@ algsEd 59
auligs@n oL Guyerer elsdwrsn T 1,134 aafldr iser =g

(A) % 16,000 (B) ¥ 15,000

(C) ¥ 14,000 (D) % 20,000

(E) eflenr Qsflwelcreney

CCS4T/2022 46 B
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134. 4P+Sr9B#A3?7C>Z%6‘d*Q@1

135.

If the f1rsF half of the serieg 1s written in reverse order, then which
element will be fourteenth from the right end?

@ > (B) A
©) Z D) +

(E) Answer not known

4P+slrgB#IA3?7}c>Z%[sd*Q(@1
@5”@\55?‘3‘—’@-1— Qsrfler s urfleow GenCarnéE euflansulcy erpdlenmed eu(mHLD
Qsrflen cuagL&EssH e mns l4-augns semwwy 2 nlifeeas srars.

@A) > (B) A

C) Z : a7 +

(E) &flenr Qsfwefdene

10 farmers will plough the land in 21 days. In how many days
14 farmers will plough the same land?

(A) 14 days
(B) 15 days
(C) 16 days
(D) 17 days

(E) Answer not known
10 efeusmlser 21 prrLaaeTﬂGb @@ Hosms o (g WYysSlemenit ereflcd <G5
Pageos 14 eusmlser assman priseild ewa wiuuiy
(A) 14 IBITL_ &6
m'r_r;m'_asm 7
—9 bIL56
(©) 16 presar
D) 17 [BTL_&ET
(E) cilen Qg Mweldee
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136. Which among the following is/are correct about the Judiciary in India?
(i) India has borrowed the concept of Judicial Review from the USA.

(ii) Both the federal and State laws can be subjected to Judicial Review
by the Supreme Court.

(iii)) The Constitution Article 13B saves the Acts from Judicial Review.
(A) () and (ii) only

(B) (i) and (iii) only %_

(C) (i1) and (iii) only ‘

D) (@), (i) and (ii)

(E) - Answer not known

@ndurede BHuyerymiey ubHw SpsTamUeuDDIET 6Tg/cTeneu sflwmerenau ?

() @sdur pHuyeyTLe TeTD SHSSIHDE =@uAssreldBhs QUHDS)

() gedu wHmd  orfle  FLLREE @ram@n o2& BHodasden
pELyanrmiesELUbIw

(iil) ewrfueewuy st udfey 13B gdsgimn oy <piey deleums s5H&E DS
(A) (@) wpmyw (A1) LD
(B) (@) whmwp (111) wGb
%;jj) wpmb (111) vl Hibd
@), (i) wppo (1)

(E) ofer Qsflweldeme

137. Which one of the following Articles empower the Suprerﬁe Court and
High Courts to issue writs?
(A) Article 23 and Article 226 (B) Article 32 and Article 228

(C) Article 226 and Article 36 (D) Article 32 and Article 226
(E) Answer not known

Gameumpy sy Ofleseli  apss  sllud@fle) e wirfHiwapssld®
Gugranamaeers GpLibss sifamrb efédeanpg ? E’Q e
(A) sL08fey 23 wpmd 226 (B) sl t9fey 32 wpmid 228

(C? gi_LUdfley 226 whmbd 36 sl L fley 32 wpmyd 226

(E) efen Qsflwellcvena =

CCS4T/2022 48

22



138. Pick out the correct statements -

Statement 1 :  The delta of the Ganga Brahmaputra has the largest
tidal forest. |
Statement 2 : Tidal forest are also known as mangrove forest.

(A) Both statements are true
(B) Both statements are false
(C) Statement 1 is true 2 is false
(D) Statement 1 is false 2 is true

(E) Answer not known

eflwmer mrré;é]mgwg,g’_, Carpshésayb
arsdub 1: shes-Grboysdrr  Quolr  ugdsefled  Wsubuflu  sm0Y

HesamH&er o drerar.
aursdwb 2 :  S@ouTsSs ST ST “mn@@cqnm” STEH\&ET eral
Simp&aLIL[H S eTDaT.
B)rer® eursdwmis@hD &l
(B) @year® cuES W& EHLD Seum
- (C) arsdwd 1 &M; 2 sl
D) arsdud 1 gaug;: 2

(E) eflen QgMwciidvena®

49 CCS4T/2022
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139. National Panchayat Raj Day is observed on
(A) 24th December
(B) 24t August
(C) 24t April
(D) 24th September
(E) Answer not known

Casflw earyml & HreT ————— G-
(A) gebuir 24

- (B) =sevr 24

@/\ glge 24

(D) Q&ur_murr 24
(E) en QsfMlweldena

140. True righteous/virtuous life consists in the avoidance of four things,
what are they?

(A) Jealousy, Ambitiousness, Anger, Unwanted Abusive Words
(B) Aram, Porul, Inbam, Veedu ' |
(C) Enjoy, Sound, Laugh, Peace

(D) Lust, Anger, Doubt and Actio-n

(E) Answer not known

‘Busst Quenpg Sipw” — eranau ?
W&@Ms@. 2faun, Qaugefl, @enanmeQsme

(B) <@mw, Qunmer, @eruib, &S

(C) wAPsh, 555005, Migso, smnd

(D) smon, Qeugel, LwssD, eSenar |

(E) &flen Qsflweddvenas

CCS4T/2022 - 50
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141. Which of the following statements are true?

(1) CDBI — Central Drug Research Institute has developed an
indigenous RT — PCR diagnostic kit “Om” for testing the Omicron
Variant of Corona Virus.

(i) Om is the first kit made by any government institution for specific
testing of Omicron.

(iii) Om 1s the third to be made indigenously for specific testing of
Omicron (Corona Virus).

(A) (i) and (i1) only

(B) (i1) and (iii) only

(C) (@) and (iii) only

D) (1), (1) and (111)

(E) Answer not known

SpGETEID QUTESWRGETE erepeuweemd &M ?

(i) wsHu wEBE <WITOES BHpeuard CDRI QanCrrenm eveugedlenm eubl&ymen
wrgur’ el Cerdlés o arpm g GaoGw “Om” eraywb <iTig - 198yt SaRTLHluyd
s(mell 2 (HeuTsElLeTeTs). :

(i) ghisgrafar @ALILL Comsoais® aps SO - 2ATE  HpeEssTE
&@QJFI'E':}&L'IL_H'_L.' Wp5e &(mell “Om”

(ili) s.empmiyCoGu surissnuLL eperpreug QarCrranm  @eugav Gemgener
smed “Om”

A) () womo (i) LLE

(B) (ii) wpmo (iii) L

(©) (i) wpgw (iii) wED

)7, (i) wppo (i) semss’

(E) Gﬂ;:@grﬂmaﬂ@ww

51 CCS4T/2022
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142. Match the adulterants of the food :

(a) Hydrogen peroxide 1. Shiny appearance
(b) Food colours 2. Milk
(c) Calcium Carbide 3. Fresh look

4.

(d) Carnauba Wax Ripen Bananas

@ ® @© (@
A 1 3 4 2
B 2 .3 4 1
C) 3 4 1 2
D) 4 1 2 3
(E) Answer not known

Epssam salLLSds 2 aGoun(h Qaean Csiis.

(@) eanipgear Qurrémen® 1.  uertueruurer CaTHId

(b) e awey Hnepligser 2. umé
(c) srofwibd sriau) 3. usmws CsmHoLd
d) smiGemmu Qm@@ 4. arepLuPs®S LWES @eLILSHE

@ ® @© @
4 1 3 4

&2 3 4 -
T——-T—:}——‘—/'—_—"——
(C) 3 4 1

D) 4 1 2
(E) eflen GaMwelecraney

W DN = b
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143. Read the fo‘llo.wing passage and answer the item that follow. Your
answer to this item should be based on the passage only.
. Passage
The creation of the Swadeshi Steam Navigation Company marked a
spectacular development in the history of the freedom movement. Eager
to revive the naval tradition of the Tamils to provide practical training
in ship building to the people and determined to challenge the British
Monopoly of maritime traffic, V.0. Chidambaram announced his decision
in 1906 at Shiyali to create a Navigation Company.
Which one of the following is best implied in the passage?
(A) The steam Navigation Company earned a good income in those
days which marked an impressive development.
(B) The creation of Swadeshi Steam Navigation Company stopped the
British Monopoly of Maritime Trade. | '
(C) V.O. Chidambaram was dependent on taking any decision with
regard to Navigation Company affairs.
(D) The restoration of Tamils Knowledge in the Naval tradition was
the objective of the creation of Navigation Company. ‘
(E) Answer not known
Sébreu (mLd ugﬁmmu Ligsg Geraumb elammeing udwalssayn. @bs UGSHsaTar
2 msdr uded ussludlen SiguuaLuiler wi GG Gméss GCeauen(Hlb.
L
&Cs8 eveld CrellGCaayem Blnieuergslen fﬁmn&e@ s5687 Qusssdear curomholed
S(F SADUSLLTET GUETTES WS @Nsss. slpisaia sLu® sLHb UTFLUNLS®S
BLOL@sEn Tusdd LESEREGS SUUD sl(Heudeéd perLpapll LudHél
siafssab. sl GuTsGrsded UAlkdy gsGuissdpE swrd dEeage
> mfunseyd eu.o. Agpurd 1906@e eflwrdldie gm CpeliGseyer fipauasms
2 (FeUM&@GeUSHETET G (Pl 2iPlediss .
Gemeu(meuemeum ey 68 ugHuder Spliurss GOUEGLOu@Emg) ?
(A) aveb CreCaagen Hpeuand ibs prisefldd B QuEBLTEIEMS ML iqUig).
B8 G misassmigW aleTTEslmus &DS55I-
(B) &Cs8 evieib CraGaagen sueafllier 2 meurssid sl auamilasdad AN g6
geGunssms HNSHLS. J
(C) e.2. Asbumd GreilCaapen _@QJ@JGF‘ @‘J'_]G\J&'"Ufélasm QTLTUNG 6THS (LPlgameuu|D
TOULAD WppeusmaTs STTHAGHST.
M&;Qus’n sL_(HLD unULbumuJﬁé]_Gb étﬂgpﬁ%’ﬂ‘?ﬁf Sifleveu B QLHULE CralCaagpen
Aneuanseas g@mnéaeﬂmg,m Crréswnn@ibh. &=p
(E) efleni QgMwelldene

p 53 | CCS4T/2022
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144, Assertion (A) :  Micro irrigation technology helps to have a higher yie]g

when compared to the traditional irrigation method.

Reason (R) : Micro irrigation required moderate water supply at
regular intervals, reduction of labour expenses, increase

the usage of fertilizer and the yield.

(A) (A)is true but (R) is false

(B) (A) is false but (R) is true
(C) Both (A) and (R) are true but (R) is the correct explanation of (A)

(D) Both (A) and (R) are true but (R) is not the correct explanation
of (A)

(E) Answer not known

apm (A) : Beett ureen Qsmbléml L, urmbLfw Brurgesr peppaeer
el ulirsefler yhs wa@GHD dess euflouans Qeldpg).

smrextd (R) 1 mewentir unsar gL gdled areunen Bir Eyrer sme @ e Qeuaflufied
urosslu@dpg. el saller  Qeweeus GoOnsSg, 27U
vwerLm(gdlper SifsfuuGsn® efaerssamewid <Hafsdng.

(A) (A) efl; e (R) seumy

(B) (A) seum; memna (R) o
M (A) vpgio (R) &fl; epemed (R) eremugy (A)ée sflumar eflerdsis AED 7

(D) (A) whpmw (R) efl; eyema (R) erarig) (A)ég sflwner eferésid side

(E) e GsMliueicrena

CCS4T/2022 54 B
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145. 94 is divided into two parts in such a way that the fifth part of the first

146.

?nd the eighth part of the second are in the ratio 3 : 4. Then the first part
is
A) 28 (B) 30
(C) 36 40
(E) Answer not known &
ppder @ UGS wHmib Tligem @ UGS ar @) UGHWTS Gfsésrul L
arair 94-@lein cfldlsd 3 1 4 arafler wipen o LG
-~ / -

(A) 28

(C) 36
(E) &fer QsfMwelcrena

A group of letters are given. A numerical code has been given to each
letter. These letters have to be unscrambled into a meaning word. Find

out the code for the word so formed from the following.

RMENIBU

b4 Ll

1 283 4 5 6
(A) 625314 (B) 462531
(C) 462315 (D) 542531
(E) Answer not known
TWsgIsater Qsn@Liy Qe EC QarRssLul (b 2 dTarg. geuleun(m Tr(WHSZISESLD
saflgsafiGu e GHSE eupmsLULBeTerg. @sQsTEUY  apSFHISaT
BLbQuWisg wTHIWELSSTED QuUmm@peTeT euUTTEMBEE Sl &G, SiF6TUly.,

@sssTan o GHUIGsmaTs sras.

Ldsrss sam(HNgss eMd
R MENUBTU G
J 4 v 4l
1 2 8 4 b 6
o1 msed
(A) 625314 62531 —> NVMEER
(C) 462315 (D) 542531
(E) e&fen Qg Mweildea
2 CCSAT/2022
[Turn over
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147. Match the following :

(a)
(b)
(c)

(d)

(A)
(B)
(©)
(D)
(E)

Sarkaria Commission
Rajamannar Committee
Anandpur Sahib
Resolution

Bommai Judgement

@ ® © @
B, .8
1 .2
1 =~ 38
9

O A

1
+
2
3

Answer not known

QuTmSIs :

(a)
(b)
(c)
(d)

gigamilum < emeamwib

QurgweraTi &L

SAepsLILT Fradll Siwmrearid

Qumbento Sy

@ ® @ @

e B M

@ 1 2 3 4
674 1 2. 3
©2 1 3 .4 -
D) 3 2 4 1

(E) eflen Qsfwecrene

CCS4T/2022
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Tamilnadu Govt.
Akali Dal

Supreme Court

Union Government

- SUOIPHTH ATFTRSLD
2I&Medl Ferid
2 FgBdlenmLd

LSS S TEFTEIGD
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148. Which one of the following i the right bank tributary of Narmada River?

% g:n"’;;ll (B) Burhner
D) T
(E) Answer not knOWn ( ) awa

etreu(HeUaTeUD DIET e 6 Boems o hbler euag s@) GIaenT D0l S4@ED.

(8)  abiyer (B) - urreir
(C) ueper _—
E) oL Osfucdoms &7 pen

149. Match the place of excavation with the district it is located :

Place of excavation District
(a) Keezhadi 1.  Thoothukudi
(b) Korkai 2. Ariyalur
(c) Gangaikonda Cholapuram 3. Thanjavur
(d) Kurumbanmedu 4. Sivagangai

@ b (© @

(A) 4 3 2 1
B) 3 2 1 4
(C) 4 1 2 3
D) 1 4 3 2

(E) Answer not known

| Si&DeuMITIFS @)L BT ST WTeUl L SFIL 6 (um(hsss.

SABPeuTTTFS] @)L m&eT LOTeULL LD
(@) &g | L asgsen
(b) Qsmhens 2. Mg
() shems QarerL Cempyd 3. SEHETQU,T
d) EmovusaCLE 4. Heustians

@ ®) ( @
(A) 4 3 2 1
(B) 3 2 1 4
&7 1 2 3
D) 1 4 3 2
(E)  aflen QgMwadicvena

¥ CCS4T/2022
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150. What are looked upon as the “true jewels” for anyone by Thiruvalluvar?

(A) Love and Virtue
(B) Humility and Pleasant Words
(C) Knowledgé and Pm—#ér
(D) Family Life and Renounced Life
(E) Answer not known
QEaUBESE FDHS RIS GTEETTE @QmLuees  eTer @Jm@_sur'r ereumenmé
SHLAGAempmi 2
(A) ey ped

Mumﬂmfo @ arblgmegLd
(C) siflayd HOED
D) @Goapwbd HPUPPD

(E) e Qpflweildveme

32



51, Find out the INCorrect pairs -

() Maharashtra Bi-camral legislature

(i) Telangana = Uni-camral legislature

(ii)) Bihar —~  Uni-camral legislature

(iv) Andhra Pradesh _

Bi-camral legislature
(A) (1), (1) and (ii1) are incorrect pairs

(B) (1) and (11) are incorrect pairs

(C) (1) and (111) are incorrect pairs

(D) .All are incorrect

(E) Answer not known

seuUDTET @)enamaniid &erL_s.

1) wsryresg T —  myeneu &L bemmid
(1) QGsgiiisTerm —  @reeu &L IeTmid
(1) Sam —  @reey &L bemid
(iv) 2 5HTArCseiD —  myeeU §LLDETmLD

(A)- (), (1) wompn (1ii) seuprer Gaan
B) () wpmib (i) seuprar e
mi) wpmitb (111) geupmen Genem

— I
p—

(D) SHDMGGID G e g evem

(E) ofenr Qg Mweilerene
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152. Match the following countries with their Mars Mission :

Country

(a) USA
(b) India
(¢) Japan
(d) China

(a)
A) 1
B) 2
©) 2
D) 4

(E) Answer not known

(b)

4

1
4
1

2

B e B

(d)

W W o

Mission
Mangalyan
Psyche
Zheng He
TEREX

s BrHamEr iger ey Weger 2 L6 Clumhssis.

Br(H&eT LOl 0T
(a) w.erev.gr 1. wrlswTer
(b) @nHwum 2. Psyche
(c) slume 3. Zheng He
(d) &enn 4. TEREX
@ ® @© @
A) 1 1 3 2
@?2 1 4 3.~/
(C) 2 4 3 1
(D) 4 1 2 3

(E) eflen Qsluelcrane
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153. Which of the fOHOWng statements about Bhagat Singh are true?
() In1930, Bhagat Singh attacked the Chittagong armouries

) In 1929, Bhagat Singh and B.K. Dutt threw a smoke bomb inside
the Central Legislative Assembly Hall

(i) In 1925, Bhagat Singh formed Hindustan Repubiican Army
(A) (i) only

(B) () and (i) only

(C) (1) and (11) only

(D) (ii) and (ii1) only

(E) Answer not known

Spssranid smppisaile LssAn Qsmiurar sflurear spops ser_Hs :

1) 1930-@é ussAm ALLaM RUSL UDLESTSE®S Srédlarir

i) 1929-@Qe¢ ussdm 9.0s. ssgiLear Q@anpg wsFw sl Gurme Sg
&er(H ai&lammit

(i11) 1925-gyid &0 LsHEE @hgEvsTen & wrsl el ow blmieSerni

(A) (i) wrEw &

(B) () whmd (iii) wr @ &f

. o SR - A &

(1) womp (11) wL

-——
[~=

D) (i) wppd (i) we-G &

(E) e QpAwciioaa
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154. Arrange the source of revenue of government of India for the year
2020-21 in descending order

@® GST

(11) Personal income tax
(1) Excise

(iv) Corporate tax

(v) Customs

4) @), @), (), @v), )
B) @), (v), (@), (v), (1)
©) @, @v), G, (i), (v)
D) (@), (), (i), (1), (V)
(E) Answer not known

202021 oy yerrgHsTar @bHw  réler m@mrruu_@curéjasmw @orE
aflensier auflansiL(Rsgs.

G GST

T .

(i) Sree

(v) Pposer af

(v) &ms euf

A) (1), (@), (1), Gv), (v)
(B) (1), v), (1), (v), (11)
G770, @), ), @,
D) Gv), (1), (u), (i), (v)
E) o Qpfucivems
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155. The greatest 5 digits number, which, when divided by 3, 5, 8 and 12 have
9 as a remainder is

(A) 99972
(B) 99958
(C) 99960
(D) 99962
(E) Answer not known

em Bsl Quilu pig @wss aarmear 3, 5, 8 wHmw 12-d wEsED GuT,
dan s BF 2 aafled, Bst Quilu pis @oss aaramarg —— BGLD-

A) 99972

(B) 99958
(C) 99960

&7 99962

(E) e&ev Qsflwellcvane

156. The ratio of 435 25is same as
@ 2:1
B) 4:1
C) 7:5
M) 7:10
(E) Answer not known
478 - B araTLgHE swwrar el
@ 2:1 |
4L
C) 7:5
M) 7:10
(E) &fen QsMwedlcrensd

37



157. The 86% Constitutional Amendment Act, 2002 has introduced the
fundamental duty under 51 A(K) is
(A) To provide free and compulsory educational opportunities to all the
children until they attain the age of fourteen.
(B) To value the rich heritage of our composite culture
(C) To defend the country and render national service when called

upon to do so
(D) To protect the natural environment
(E) Answer not known
86-aug wrflueeony dnssssln  2002-Geauy 51 AK)-@e s
Sl UUL sLaw MepsiuGssiuLpareng ?
14 awdpE 2 lullL ADASH SRHPSESERSSD @eeis LWHHID SLLTw
g6l ojefl$s6e—m7 '
(B) umgpbufu sl sOIEFTTEMS WISIIL UTSETSSD
(C) Gss ungismubHsns Gaenauliu@GUNE Caeruanflumbo SWTrmul(HSSe
(D) Qupes HNFSGLODL LTHSTSSED
(E) e Osflwelilcrene

158. How many pairs are correctly matched?

Party Symbol
1. All India Trinamool Congress — Two Flowers and Grass
9. Nationalist Congress Party —  Clock
3. Telangana Rashtra Samiti — Car
4. Asom Gana Parishad —  Lock and Key
(A) 1 pair (B) 2 pairs
(C) 3pairs - (D) 4 pairs

(E) Answer not known .
EpEEERTLGUDDIET CTHSEEN. (3)a e s 6T sflwnsls QummSSLIUL [HeTaTeT ?

&8 Hletramid
1. odo @sHu Hilemrepd smmsdlyen - B\ YSseT O LH&ET
2. GCsllweuns smmidlyev &8 - &HJ&MID
3. Qsgiarar grey fu s55 - &

4. sevmbd seor Uflags - LL® wHmb Frel

(A) 1 G)enemr 2 @ enanaar
(C) 3 Geemsen (D) 4 @ewemaar
(E) ofenL Ggflweicrena
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160.

159

“India W’lu be a land of many faiths equally honoured and respected, but
of one national outlook” — Who said this?

(A) Mahatma Gandhi (B) Jawaharlal Nehru

() Dr. B.R. Ambedkar (D) Sir Syed Ahmed Khan

(E) Answer not known

“@reum veGeay pbYsmssmers swwrs Gumpd  LHEEIUBLD QL one

@@Qu@é‘:”@ @Gy Csélws sETCaRTT_L S0 5E Qs ey (&G0 eTand g blweuf

(4) wsrELT SMHE M@ugﬂ)r’rwm G (m
e = . ,—-—?’h
(C) Dr.B.R. siwCGusgsi (D) & @swg SISLGIETE

(E) oSlewi QsMwelldene

Which of the following statements are correct?

() Rajasthan plains is located to the west of Aravalli range

(i) Punjab-Haryana plains lies to the North-East of the Great Indian
Desert

(i) Ganga plains extends from the Yamuna River in the west to
Mizoram in the east _

(iv) Brahmaputra plains is located mainly in the state of Meghalaya

(A) (), (iii) and (iv) only (B) (@) and (ii) only

(C) (i) and (iii) only (D) (ii) and (iv) only

(E) Answer not known

Ep&aeRTLcuHMIET CTena slwmar euméE W mbigHeT?

(i) @Unadug,nsh FoQeuerf c%gwms'uaﬂ wmmgagnL@gg@ CuHdléd SeLHSETaTS.

(i) ugsemu-apMuwrenT soQaaflser  @pHu  ureemagdear L dlpsGs
<2{EN LD [ G| 6T 6IT 60T -

(1) smess swbeusl Guhéléd wpeer Db (hHg Hpsdad LIGsTrd euany
uredluerarg).

(v) Qybwysdym FoQeuafludle QumbL@SH Cuarowreild DimwhgETarg).

B 6, i) oppe @ w0d  OFD wspo () oeeo

(C) (ii) wpmp (i) w O (D) @) wpgd (v) wEEW

(E) e QsMweilcren®

65 CCS4T/2022
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161 —— js the thought in terms .of social, educational and

psychological well being among various communities.
(A) Communal harmony

(B) National integration

(C) Women empowerment

(D) Community healfh

(E) Answer not known

veGeum) &@g,nur&a@&éﬂmx_@mu_mm, Feps, H6l WHMID o erellwed B eumpey

Qgmituren Sbgenar —————— erarlit(Bib.

M@g,nm 56060l T &:85LD

,—-——ﬁ‘:‘—"——‘—-

B) Czolw gmhadmerrii
(C) Queamraer @Germmmm
(D) swsmw oL

(E) ole Qsflueiaeme

40



162. The three articles which were amended by the Parliament of India to

restore State’s power to make their own OBC lists are

(A)

(B)

(©)

(D)

(E)

334, 342A and 366

338B, 341 and 363

338B, 342A and 366

333, 341A and 362

Answer not known

Qsr WpullL eu@ulearnt ULliguiee mrrﬁeunaa;@m surflE@hd  AfsTrsas

B uspers @pSw prLTEsLansHd darar® euuuL sUL E(m&sh, EpsTL

PPETT ATFEMLOLILIS Fo.MIGEETE HpsSHwug).

(&)

(B)

334, 342A wppib 366

338B, 341 wpmb 363

@/3383, 342A wppd 366

-—

(D) 333, 341A wpywd 362

(E)

eflen Qg Mwelldee

67 _ CCS4T/2022
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163. In Automobile service stations, the vehicles are lifted upward using the
Hydraulic Lift, which works based on

(A) Newton’s First law

(B) Newton’s Second law

(C) Pascal’s law

(D) All the above

(E) Answer not known

QursaiISE LWps UMiseh uailbmasalsd aursamsmer 2 wWiss abs 6wl
SigliueaL e Quiighd fllwed 2 wisdsd LweruBssULHEeDeT?
Q) Ay Laier wso 6l '

B) Py alear @remmbd &84

Mﬁdva;do el

(D) Cupsear omeanssgb

(E) e Qsfwelcorene

164. Which of the following Equation for force is incorrect?

(A) F=mxa
(B) F=APxi ‘ '
©) Fzm(v—u-)
@ r-22

(E) Answer not known

EP&HTEID FHUTHSEHET T8 60MEEHTET FLOGTLITIY DEE ?

A) F=mxa
@ F=APxt
(C) F_m(v—u)

¢
D) F=$

(E) eflen OsMwelerena
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165. Choose the correct statement.

(i) The Palayakkararg system was in practice in the Kakatiya Kingdom.

(i) Puli Thevfﬂ" recaptured Nerkattumseval in 1764 after the death of
Khan Sahib.

(i) Yusuf Khan was negotiating with the Palayakkarars, without

informing the company administration was charged with treachery
and hanged in 1764,

(iv) Ondiveeran led one of the army units of Kattabomman.
(A) (), (1) and (iv) are correct

(B) (1), (11) and (iii) are correct

(C) (111) and (iv) are correct

(D) (@) and (1v) are correct

(E) Answer not known

gflwmen emperps Coirey Cewwey.
(1) ureerwssnri o sréssHwul Cuirflar perLpopuid @ BHESSI-

(1) smer smdllSen @muﬂm@uéﬂm UelsCaeuir Qphsl (b Ceeueme 1764-@e
Bar@o ensliupdlerir.

(111) swQuef BireunasSn&S SHEUGD 26N &ESTLOG urepeTw&aTyTaGer
Cuéseumigansudled FHULLsTD welster 5Grmdl eearm @GHOL &HLSSIULEH
1764@) e g,né;éilaSh_UuL’.[_rrr‘r.

(Iv) qairiqeSyer s LQumbweier ueLu@flejsald geaterns seeanGuibHm
UL G et

&) @), (i) womn (v) dwoa il

@ 1), (i) oppio (iif) uma o ="
© (i) g (v) oo o

D) () wpmd (v) duEd) &l

(E) efen QaMwedoama

B 69 CCS4T/2022
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166. Assertion (A): RBI controls the supply of money in the Economy.

“ Reason (R) : It wants to stabilize exchange rate and control

inflation.

(A) (A) is false, (R) 1s true

(B) (A) is true but (R) is false

(C) (A) is true, but (R) is not the correct explanation of (A)

(D) Both (A) and (R) are true, (R) 1s the correct explanation of (A)

(E) Answer not known

sgapm (A) : @pdu Mefcy eumdl Briiger QUIGHETTST] LT GUPEISE®E
s OUUBSHE DS
sryenrd (R): apflu Gsoraeml uflaissmar fssms HlaaliL(BSsaD,

veneisssslenens asl;@gu@g,g,mm &My S D).
B) (&) soup; ®) of
B) (A) &f; e (R) seum
(C) (A) &f; yame (R) eremug (A)elpsrar sfwrar eflerésweaa

M (A) vogin (R) @rem@w &f, (R) eraug (A)elpaner sflwrar eferdsnm@

(E) ofer Qsflweicrene
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167. A worker was engaged for a certain number of days. But he remained
absent for some days and was paid Rs. 1,387. Had he worked all the
days, he would have earned Rs. 1,752. How many days did he work for?

A 19 (B) 21
(C) 24 (D) 29
(E) Answer not known

emauT @0 G L Camassrs LalULIGSUULLIT. DpETTD HAGUIT Sl
BIL&6T Ceuemars@ eurmoed, Geuamer Q&g BT GEHESTET sardlwions h. 1,387
Quipri. e Sarsg Brlsaflgd Ceauame QeUHbsTed sardlwiong . 1,752
Quidsuumi refled Beuir Cauamer Qswis BT H@ETS STETS.

-

i (B) 21
©) 24 (D) 29

(E) eYer Qsflweilcoame

168. If product of given three numbers is 1875 and their HCF is 5, then their
LCM is

A) 175

(B) 125
(C) 375
(D) 450

(E) Answer not known
QsrPésrul L apeTm eramsefl
8.Qur.au-5 arafler siauplern5.Cum.o
(A) 75
(B) 125
&y 375

s
(D) 450
(E) efeni Qs flwelleraned

e Qumsspueer 1875 womib  eupdlen

" 71 CCS4T/2022
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169.

170.

Which is in-correctly matched?

(A) Article14  — Equality before law

(B) Article 17 —  Equality of opportunity in matters of public
employment

(C) Article 21(A) — Right to elementary education

(D) Article 26 —  Freedom to manage religious affairs

(E) Answer not known

seuprs QumphSuleTens) erg?

A) sirfue sewoy Gfey 14 — sl Lgden (paT D@ETa(BHLD FDLD
rflwuéd <ewiiy Gfley 17 - Qumgy Geuaaeumiitiysefld sweumiy

(©) eirdwe wewiiy Gfey 21(A) — Asmsés saell Qumib 2 faw

D) <rfwe ewliy Gfley 26 - sww efeusnyhsamer Hlieudlé@n 2 Man

(E) e Qsfwueldene

The Directive Principles of StateJ Policy of Indian Constitution resembles |
(A) Magna Carta, 1215

(B) Charter Act, 1813 _

(C) Instrument of Instructions, 1935

(D) Regulating Act, 1773

(E) Answer not known

@rdu srflueewly stsasdear aflsmi( Opdopepsesr .—— Gud
Gamppid sjeflliuameuwnsib. ' ,

(A) wvnéenr srgernd, 1215

(B) uliwé e, 1813
Mi—@]ﬂ@ggm Qewmnamed, 1935

D) euwuGLESsID s Lib, 1773

(E) eflen Qsfwedldency
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171,

172.

Christiamty Was first brought to India by an apostle of
Christ in the First Century A.D. '

(A) Saint Peter
(€) Saint Matthew
(E) Answer not known

(B) Saint John
(D) Saint Thomas

8.9. wsoMd EPDPIETLG Hwmsge wsd GpHurele @Cwseler SLgrer
@) ueis Clas (B) uafls gren

C) uyafls Cosw, @f Leflg o
(E) oo Gsflusidema

Axran_ge the folloxtving languages in the chronological order with regard
to their year of being granted the classical language status

1. Sanskrit

9. Telugu

3. -Malayalam

4. Tamil

(A _2.3. 4.1 (B).3,1,4,2 .
© . 4,281 @w, i.2 8
(E) -Answer not known T —_—

spssa  Qumflaamer G&LTJQLDHE@ s5&SLGuPD garhseallen gliueLuld
aflensliuDss85. '

1 swadmsod

2. Qsgue

3. LOENEWITETLD \
4 s

A) 2,3,4,1 B) 3,1,4,2

©) 4,2,3,1 D) 4,1,2,3

(E) afleni Qg fweildena

73 CCS4T/2022
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173. Arrange the districts in descending order of having forest cove:

(i) Dharmapuri

(1) Erode

(111) Vellore

(iv) Coimbatore

@A) @), (), (i), Gv)
B) (i), (v), @), (i)
(€) @), (), (), (i)
D) (@), (v), (), (1)
(E) Answer not known

grhsefler  DETENGUS Q& () |

(DTGUL_L_RISENET, SiMal QameT(HeTer
|

@oi@eaflasuild pgis.
() ghouf f:o\\ow @

(i) #ConG , Te\Wom /—»—f——”"‘_du“
Trpseis fre— L9 i
(1) Geugnit -, Tafn ’>__F

G Conuibiggai /\(@W
A) @), (1), (11), (v)

B) (i), (iv), (@), (i11)

€) (), (1), (), (11)
@7 0), (v), (i), (i)

_E__d»—#
(E) eflenL_ Q;_r;rﬂ weldenaq

i
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174. Arrange the following 1n Chronological order with respect to their
Chief Ministership in Magy

as Presidency
P.T. Rajan

L=

A. Subburayulu Reddiay
3. P. Munusamy Naidy

4. C.Rajaji

P. Subbarayan

F.J‘

A 2,4,3,5,1

B) 2,5,3,1,4 '
€ 5,8,1,2,4

M) 3,1,5,2,4

(E) Answer not known

stoaflengliLig LSTTEL WIGTETESE (Ps@wEsTsmer aufles L@ sS85
L. Y.g. greger

2. g &uyrmyey Qpliguwrt
3. 9. waend pry®

4. & grgred
d

M. sLugTwen

(A) 2,4,3,5,1

W2,5,3,1,4

£ 0 )
(C) 5,3,1,2,4

M) 3,1,5,2,4

(E) oflen O Muwelldene
75

CCS4T/2022
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175. Which of the following statements are true?
(1) Zinc blende is concentrated by magnetic separation process
(ii) Haematite is concentrated by gravity separation process .

(iii) Aluminium is produced by the electrolytic reduction of fused

alumina

(iv) Matte is a mixture of cupric sulphide and ferrous sulphide
(A) (1) and (11)

(B) (1) and (iv)

(C) (i) and (ii1)

(D) (ii) and (iv)

(E) Answer not known

Spsaem_cuhmieT sAWITET SahmIGET cTameU ?
(1) s verarl smihsl GALY apanpuded HLTU9ssLLESDE.
(i) Gamwerr L yeSuiiy gperpuide SLTUbssLIULOSHDS

(i) e mdu S@llammes Werarmd UG p@DUIE @@aaa%] SigBlafwib
QupriuB &g

(iv) Gul  eearug GUNE sdeoul wLOHL Guifd Foeu® pHweuHlen
&QENEU W MGLD

(A) () wppd (11)

B) (1) wpmw (1v)

D) (1) woHmd (1v)

(E) &fler QsAweldvenay
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176. Which of the follovxfing was founded by Rettaimalai Srinivasan?
(A) Sakya Buddhist Society

(B) Advaildananda Sabha
(¢) All India Depressed Classes Association
(D) Adi Dravida Mahajana Sabha
(E) Answer not known
éreu(HeLeTeDMIGT 6T FeL @I arl_ane Eaflaumganmad goumsLiLLL g ?
(A emsdlu Quetss FhisLb
(B) sisameugnanss sum
(C) =dle QbW @GssLILLGLIT srisLDd
<28 Sorell baTman senL =2
(E) e Gsflweldeme

177. Match the following :

Indus Sites Excavated by
(a) Chanhu-Daro 1.  Suraj Bhan
(b) Lothal 2. N.G. Majumdar
(¢) Banavali 3. S.R.Rao
(d) Mitathal 4. Bisht

@ (b (@ @
4) 2 1 4 3
B) 2 3 4 1
€ 1 3 2 4
D) 1 4 3 2
(E) Answer not known
Qun@sgis :

Ag s0Geua ;5650@5m SIBLPGUTTTIFS Wi
(a) geram®-grGym ; 1. &g umen
(b) GGUFTQ&;G’D 2. erem.g. LOgFOLDSTIT
) uarmeuef L Uﬁ@‘
(d) Bl L rged 4. Qe

@ @® @ @

d
(A) 1 4 3
&~ : 3 1

4

2

€ 1 3 2
D) 1 4 3
(E) SlenL_ Qg Mwaeilerane

B ' 77 CCS4T/2022
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178, Ass : . _— :
(3. Arrange the following plans in Chronological order.

(1) Gandhian Plan

(11) Bombay Plan

() Jawaharlal Nehru Plan
(1v) Vishveshwaryva Plan
(A) @), (1), (u), v)

(B)  Gv), (u). (1), (0)

(C) (), (1), av), (1)

(D) @), (), av), 1)

(E) Answer not known
Spssan dlLmsmen srapeniuy aflesiiubsss.
() smpdus Hin

(11) urpCu Hirw

(111) mevamiene Crm &b

(iv) eflevGeuseuyuwm &b
(A) (1), (1), an), (v)
& o), Gii), Gi), )

(C) (1), (11), (v), (1)

(D) (1), (1), (v), (in)

(E) eflen Glaflwdlldancy

CCS4T/2022 78
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180.

«um of faces as 4

A 19 (B) 3/9
€ 49 (D) 2/9
(E) Answer not known

@ran® us@LEST @Gy Crrsfe o mi L nu@bAUNIE BT

sog ambs® 4 doLss Hewsse) srans.

A) 1/9 (B) 3/9
) 4/9 @7 219

(E) efenL Qzflwelidene

79. Two dice are rolled together find the probability of getting a doublet or

Kala and Vani are friends. Kala says, “Today is my birthday” and she
asks Vani, “When will you celebrate your birthday?” Vani replies, “Today
is Monday and I celebrated my birthday 75 days ago”. Find the day when

Vani celebrated her birthday?
(A) Tuesday

(B) Wednesday

(C) Thursday

(D) Friday
(E) Answer not known

sOT wHmb eurenll @maHD BHETUTEET. “@em ereng Gmbs BT erar Heom
saflanmer. eunenlud b “c.arg Gpps prevar auiGung b Caran r@euny? aaé
Gt s SIBHE curenfl “@enm) s dlpen, mrer aetgelw Gpnhs Hreaer
75 mris@psE e QanammgCaren” crenr Llovellggnar. eunenflufler Dppssmer

ahed fipmwula b mEED GCTGO1d: GHTEHsI 8.

(A) Gseueumis Sipano ' .
@f{u,@s’m lipenio ’I.\?
(C) eflwmpan &lipenio ‘1/
D) Qauerafl Aiperw

(E)  dfien OpMweflcrena

79
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181. There is 60% increase in an amount in 6 years at simple interest.
Then the compound interest of ¥12,000 after 3 years at the same rate is

(A) 22,160 , (B) 23,120
(C) 3,972 (D) 6,240

\ (E) Answer not known
R SOUALL s g;GUﬂGUI;_lq_ SssHr 6 yam@seiedr 60% <fsM&8ng. 2Cs
el aSssded T 12,000-5@ 3 gar(sald dmLsGh salh ol

A) 72,160 . (B) 73,120
M 2 3,972 (D) 26,240
N ——— ‘

(E) e Gsfwefdvera

182. The population of a village increases at the rate of 7% every year. If the
present population is 90,000. The population after two years is

A) 96,300

(B) 1,03,000

(C) 1,00,000

D) 1,03,041

(E) Answer not known

@@ drmwsdear  wEsLCsTms y@TCLTAMEE (% 6l cé{é]asrﬂéaéﬂm@
@uQung wasear Qsrens 90,000 erafled 2 e & EHEEL 15];_0@ T3 Y-

Ww&&6T QFTens \
(A) 96,300

(B) 1,03,000

(C) 1,00,000

M 1,03,041

Em—
(E) eflev Gsflweilcrene
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g3, Extra copy of chromosome 21 results in

(A) Sickle cell anaemia (B) Down syndrome

(C) Kline Felter syndrome (D) Thalassemia
(E) - Answer not known |

&CriGnGemd 21-@d om pad sa(hseors @ muler sigammed ghubeig

A)  efleurer Qs Comens Mmdﬁ e _CGrmd
(C) éSGU)GDGbTo%@LJG'IJl_fT @G.DTL_@ITH'LZ) (D) g,@g{_&u_”'r

(E) e&flen Gsflweilcens

184. Which of the following is correctly paired?

(1) Pattadakkal —  Chalukyas of Vatapi

(2) Elephanta Caves  —  Ashoka |

(3) Ellora Caves — Rashtrakutas

(4) Mamallapuram —  Narasimha Varma I

(A) 1, 3, 4 are correct (B) 2, 3, 4 are correct
(C) 4, 3, 2 are correct (D) 4, 1, 2 are correct

(E) Answer not known

sflwnen @) enanrenws Gg,r’rm Qs
—  aungmd en@psElwi

(1) UL L &&eD

(2) adQuenrLm GewaseT 2 Canai

(3) arGemym &ens&eT — JT6iGlq [ &HGnL_THET

—  ps@mb BrEbLGITDET

LOMLDELQLYJLD
@)’?1 3, 4 sfwnengy (B) 2, 3, 4 sflwneng,
"—--—-.——-tz
(C) 4, 3, b4 ElﬂU..lﬂ'GﬂTQj (D) 4: ]-, 2 &mU_IITGUTg]
(E) lag]am_ Qg Muwellcrene
: o CCS4TI2022
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Match the Geographical Indiation Tag (GI tag) product with its place :

Product Place
(@) Turmeric 1. Madurai
(b) Mat 2 Erode
(c) Painting 3. Pattamadai
(d) Sungudi 4. Thanjavur

@ ® © (@

(A) 1 2 3 4
(B) 2 3 4 1
€) 1 3 2 4
D) 2 1 4 3

(E) Answer not known

yeleri eNl@ (Gl tag) QummLsemer igear QL gL e QUTHSE)s.

Qum(mer @b
(a) u;@&m 1. wger
(b) wmiy 2. mCyr(
(c) euamemiyss (@elwib) 3. ussLEL
(d) smEg 4.  sEreTayf

@ ® © @
4) 1 2 3 4
@2 3 4 1 —
©) 1 3 2 4
(D) 2 1 4 3
(E) ee QsMweddene
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186. 18 not a part of the Tamilnadu’s First Multi-Modal Logistic

Park.
(A) Chennai Port Authority

(B) Tamilnadu Industrial Development Corporation
(C) National Highways Logistics Management Limited

(D) Chennai Metropolitan Developmental Authority
(E) Answer not known

SUIDBTL g6 (PFOTEUS Udwearud sréEl Curs@eaursgl! LmsTaled
Sieowllih@&s Qsriy @dama.

(A) Qearenars ODWPESE SP&ID
B) sBPEIE Csme eeriéd flpeuerd
(C) Cragare ewanCGeusv wredevigéav Gm@mé@mmr'_ BGLL

M&G&Tmm Qu(BBST aueTiEdé @@mm' B

e . e

(E). aferi Qsflueld@ma

187. The Winner of “Jnanpith award” for the year 2021 was
(A) Damodar Mauzo ~ (B) Krishna Sobti
(C) Amitav Ghosh (D) Nilmani Phookan

(E) Answer not known
2021y oyeriq HaTan “ggranSL eflpens” QeueTmeurt wimir?

(A)  srCuwgir QuerGer | (B) fpoyamr Gonud
(€)  ebze Comay | M@waﬂ e
'—_——___--_——_-4

(E) e QzMwedcdane

B 83 CCS4T/2022
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188. The gas present in the pores of soft finely stratified sedimentary rock ig

(A) Shale gas (B) Gobar gas
(C) Water gas (D) Oxygen gas
(E) Answer not known

Quemenbwrar cuaTLd uramp NOEGSETET gienarsefley 2
CTEITET 2

(B) Gsmui eumy

mmpcb eum
(C) B eumy (D) =y&8smerm cumy.

(E) &en QsMweildvana
189. Match the class of compound with it functional group

Compound Functional group
(a) Alcohol 1. —-COOH
(b) Aldehyde 2. —OH
(c) Ketone 3. —CHO
(d) Carboxylic acid 4. ?‘
i

@ ® @© (@
A) 2 1 3 4
(B) 2 3 1 4
C) 3 2 4 1
D) 2 3 4 1

(E) Answer not known
gl (U Qumrmener Sigen cllevaru(h Ggrr@gﬂw_m @) enemt

gal_(HLIQUTHET Aavaru® Gsm@s
(a) <y esantd 1. -COOH
(b) @ran® 2. —OH
(c) & Curmei 3. -CHO
(d) srrunsedleds <jen A (ﬁ
=i} =
@ b © (@
(A) 2 1 3 4
(B) 2 3 1 4
©_3 2 4 1
2 8§ @iz

(E) eflenr @g,rﬂu_laﬁlmma)
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190. Jdentify the wrong statement from the following.

191

(A)
(B)

(C)
D)

(E)

Shivajl's Guardian was Dadaji Kondadev

Th? coronation of Shivaji was celebrated with great splendour at
Rajgosh

Shivaj1’s soldiers plundered Surat in 1665

In 1674, Shivaji crowned himself by assuming the title of
“Chatrapati”

Answer not known

SpésameuDDIET Seuprer sapenné s Hs.

&)

©)
(D)
(E)

feunguilen urgisTIRT sTETE Qe _Gse

feurgd TrRCamey Camen Wl py @l qé QaramLm i
fourgduiler LeL eSiTaeT Grsms 16656 G@DWTGTT
1674-@e s67UE g Quwled wiq@germi

fen Qaflwaelldene

Choose the correct statements : -

L

4.

(A)
(©)
(E)

Bharathi edited a Tamil weekly ‘India’. Which became the voice of
the moderates

Bharathi participated the Surat session of congress in 1907

Chakravartini, Swadesamitran Newspapers was edited by
Bharathi

G. Subramaniya Iyer Published newspaper The Hindu

1 and 2 only correct (B) 1, 2 and 3 only correct
2 and 3 only correct (D) 2, 3 and 4 only correct
Answer not known

sfluner sapmssmens samLs.

1.
2.
3.
4.

(4)
(©)
(E)

urydder ‘@pdun’ ey @5 Hsaurs Cofluanfsafidr gronss Heapbsg.
1907-@é @5 smdyed WIBMed LM sobgtsTam .

g&yeuisdefl, &Gg&@,&:ﬁﬁﬁf Gumenp usdflessaiie uryd uaflwmpBerm.

8 @bg LsHNsmeW QauaflldLeuir G. sligwenfilu gui.

1 womib 2 wr o &f B) 1, 2 womb 3 wLEw &
2 wHmd 3 wi_ G &f m 2, 3 wpmib 4 LR sA~" >
aflen Gz Mlwaelerened _

85 CCS4T/2022
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192. Whic

h of the following statement is/are correct about the NITI AyOg?

. All Chief Ministers of States except Union Territories y;

1

II. The Prime Minister of India is the Chairperso

egislature are part of Governing Council

n of the NITI Ayog

ITII. Finance Minister of India acts as”Vice Chairman

(A)
(B)
(©€)
D)
(E)

Only IT and III
Only 11

Only I

Only I and II

Answer not known

&peu(mid a@@&aﬂsﬁ ‘B8 SCws updlu eThss smbpm sflwmeang ?

. coass wifle wsoarseEnd, s Lbamb Qerar. welwer Grtsens
&5e07 2 EBD GWelld RIS eusl&SaTnai.

II. @ndwc Qyswi ‘B HCursdler saeaeul peumt

III. @sdw Pduewsst gamen smoaurTs QeudUREDT.

(A) II wogw IIT we G

ﬁwﬁ. WD -
/-——-‘:’—-

(C) Iwi@w

D) I wpmwb II brEn

(E) ofenr Gzflueiicrenas

CCS4T/2022
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193 Flnd the miSSing number ,
49, 121, 169, ? 361

&y 22 (B) 256

g 258 D) 324

(E) Answer not known

HHULL CTETDEMS Seir()9 .,

49, 121, 169, 7, 361

(A) 7225 (B) 256
289 (D) 324

194. Find the area of a rectangle one of whose sides is 5 ecm and
diagonal 13 cm.

(A) T4 cm?
(B) 96 cm?
(C) 60 cm?
(D) 56 cm?
(E) Answer not known |
o Qecucussdar g LESD O Qs.15. LHMD isem ppewedLib 13 Qs.i8. aafld,
Qseueussdan LTI Sreims.
(A) 74 Qs.8.2
(B) 96 Q.8

%0 QF..8.2

(D) 56 Q.82
E) Geni Qs fweliidene

b i CCS4T/2022
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195. A farmer borrowed Rs. 20,000 from a money lender at 4.5% per anny,
in simple interest. The amount paid by him to clear the loan after ,

period of 5 years is
(A) 74,500
(©) 717,000
(E) Answer not known

@ eugmud T 20,000-g <y @mClLTETDISEES 4.5% gafl euligulled houlL b
sLames QumEpni. Lbg @THEEEESGU Geir Uil (PPEUGID HLEDET Sy
CQegss Ceuaimyw CQsmans

(B) 7 15,500
(D) z 24,500

A) 74,500 (B) 7 15,500
(©) 717,000 &7 724,500
———

(E) efenL Qzsflweiaene

The difference between the simple interest received from two different

196.
sources on ¥1500 for 3 years 1s ¥ 13.50. The difference between their rate

of interest 1s
(A) 0.1%

(B) 0.2%

(C) 0.3%

(D) 0.4%

(E) Answer not known

Z 1,500-65 3 epampaailer @ QeuciCeuy @Lmtiselled Q(mibg Ao ss saflougsald
egHwred T 13.50 erafled aul g aismisefen aflgdlwmsd
A) 0.1%

(B) 0.2%

(D) 0.4%

(E) eflen Qsflweicraned
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97, Match the following :
(a) Varahamihira 1. Physician

(b) Kalidasa - Lexicographer

(c) Amarasimha Sanskrit Poet

. e R

(d) Dhanvantri Astronomer

@ (b @© @
A) 4 3
(B) 4 2
C) 4 3
(D) 3 4

(E) Answer not known

1
13
2
I

Qummsg)s.
(@) eugmeddyir 1. wmsseur
(b) srefignsi <s7THuwed < AMwi

(©) <iwrdbenr FLOEVEH (MG Ljeveul

(d) saraupA

o

aumaflied idl@pir

@ @® (@ @
A) 4 3
B) 4 2
&1 3
D) 3 4

(E) oflenL Qs Mwelerane

b =

K\D\i—‘ w Bo
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198. Which among the following is/are wrong?

Political Rights include
(1) Right to vote
(2) Right to hold public office

(3) Not to criticise the government
(A) (1) and (2)
(B) (1) and (3)

(C) (2) and (3)

(E) Answer not known

EpEsa@TL FmbhmISETL eTgl/eTaa) SeUDTETS) ?

e 2 Aawsdr o drer_sEwg.
(1) amésassh e e

(2) erst uaflsafle Usel audsEw e Maw
(8) <ipme widéss saLrgl

4) (1) wpgw (2)

B) (1) wpgud (3)

€) (2) wpmw (3)

D) (3) v pw

(E) el QsMweildena
CCS4T/2022 90
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199. When was the first National Education Policy formed?

-~ 200.

(A) 1964
(C) 19638

(B) 1946
(D) 1986

(E) Answer not known

L) GCaélu s06ells Qandreans eriGuimg g@mrrésé;ﬁjul'_l_gﬂ?

(A) 1964/_ (B) 1946
1968 (D) 1986

(E) HenL Csflweldena

Assertion (A) : According to Health and Family Welfare policy note
2021-2022, the state government has effectively
responded to the challenges of Covid-19 without losing
focus on maternal and child care, health initiatives and
services and other communicatable diseases and
non-communicatable diseases. 7

Reason (R) The doctor to patient ratio in Tamilnadu is one of the

highest in India. -

A) (A) is true, (R) is false

(B) Both (A) and (R) are true, (R) is the correct explanation of (A)

(C) (A) is false (R) is true |

(D) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(E) Answer not known

adlypsse (A) :

smyenrid (R)

gangmyb  LHYL GSOLU  pOs Qstaess @iy 2021-
2022-@ern Ly Garedl Qsmpm seuneller Gumg sUIE (ys
Bsayb HpuUns SE  SAME®S  STL O  (GWH®S
ugmofiy &&smey whélser wopid Csemes wHmd Gy G mHmy
Crmilaer wppb GEMdOTE Crmisafie HpibuiL Cremeuimy W&
@idureldd LESHUGES.D, .ngrrtunaﬂés@mnem Ndlsd  Hs
s 2 areraupDled SWOIPHTHID eebrgy.

A (A) samern (R) saup
B) @A) wpmid (R) @rem@id e-emmed (R) eremuig) (A)-@etr sflwner eflerssis

©) (A GTenLD
/ (A; ﬁi? zR&) @rem e-ar@w, amd (R) g (A)-@er sflunar
&G V6. -
(E)  eflan QpRcdiiens

91 CCS471/2022
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